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1. (6 points) Draw the piecewise function fiw) = { :132 i, S

£l € p e Label your graph or

lose points!
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2. (24 points) Suppose that f(z) = 3z + 7 and g(z) = —5z — 10.
(a) Solve f(x) = 0. Show all your|work for partial credit points!

3x+120
x = =7

3
(b) Solve g(x) > 0. Show all your work for partial credit points!

~Sx-10 >0
~Cx > 16

X< 2
(c) Solve f(z) = g(x). Show all your work for partial credit points!

Ix ¥ 7= ~Gx=10

¥y ==17
x == t1
3

(d) Solve g(z) < f(x). Show all your work for partial credit points!
~Cx -0 < 3x+7
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